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Question: 1

‘Doha Round of WTO’ is related with, which of the following?
(A) Agriculture

(B) Industry

(C) Services

(D) Investment

Ans: A

Agriculture @
Question: 2 ( Q

The impact of Green Revolution was Q{crfxbs.t in the case of

O
(B) Pulses ’\\$
(C) Wheat ®

(D) Oilseeds @

Ans: C

(A) Rice

Wheat

Question: 3

During which plan was Green Revolution introduced in India?
(A) First Plan
(B) Second Plan

(C) Annual Plan



(D) Third Plan
Ans: C
Annual Plan

Question: 4

Detroit is famous for which one of the following industries?
(A) Locomotives
(B) Food processing

(C) Automobiles

(D) Textile @
Ans: C QJQ

Automobiles <(, ®

Question: 5

Which one of the following sh@ts most appropriately describes the

nature of the Green Revol@\.
(A) High yielding varieties%& e

(B) Seed fertilizer water technology

(C) Intensive agricultural district programme
(D) Intensive cultivation of crops

Ans: B

Seed fertilizer water technology



